(@%IE Runlog 2105Kr_220204.xIsx1_RunlLog

2165Kr |

Run Summary Sheet : CAMAC & LabView
[ | | | | [ | Att PL2
| [Fname | start | stop |Header Ender / L{_Elapse AUk 100[10] 5 [3 2| Trie |Wob |AuF |[Kap |IC1 [PL1 [ED [IC2 |Airl |Air2
| | 21/05/12 =EXRHI LogNote: E5exp(7)_ SSD
| [bef- 1] 10:41:12] 11:01:04] [0.58 0:19:52|SSD:Kr Gain
= :BeamERBEBR
21/05/13 ZnSAARw MR [0.66
Cap 1] 6:15:00 [RO1_ZnS Zsld | mpg o[ 2[ 1] 1] 0 50u P 50 145] 200
2 R02_Wob0-36-0 mpg R=20,36.0 0l 2,0/ 10
3 RO3_Au50umR#6 mpg 0] 21 0] 0] O
4 R04_Gaf02 mpg
5 R05_Gaf03 mpg
Gafffi = Gaf: EBT3 [185x85mm @ Ysld .66
Att vs IC2@Air2 IC2[A] 0] 3]0/ 00 X _[x  |0u_[IG2@XcImt
| |Gaf 1| 6:45:00 Au 50u, R=0 15s
2 Au 50u, R=36 15s
3 Au 50u, R=36 EDHH 13! 13s IC1PL1£EL
EERES p.66 PL1=100u(new) PL2=500u(ET D<)
1:01:00] Thr PL1=150mV PL2=200mV
PL HV: FAf1] PL1=PL2= 1keps| 2| 3| 0] 0| 0|Pors(0)|R36 [50u [O |O [100u[ou
plhv01- 1 7:33:32 | plhv01-01 500V 0:00:37
2 7:34:32 | plhv01-02 600V 0:00:31
3 7:36:04|plhv01-03 700V 0:00:56 |PL1=700ViR T
4 7:37:40|plhv01-04 800V 0:01:10
5 7:39:11|plhv01-05 900V 0:01:02
scnEDpl: PL2/PL1 &R
scnEDpl01_202105130745 p.67 PL 1Keps| 2| 3| 0] 0| O|PL O |O |O [O [100u|var |500u
7:45:00| 8:00:00|30s/ 5 0:15:00
scnEDpl01-
1| 7:45:16| 7:45:43|scanED001 0.0 um 0:00:27
2 7:46:25|scanED002 100.2 um 0:00:30
3 7:47:07|scanED003 196.4 um 0:00:30
4 7:47:49|scanED004 302.1 um 0:00:30
5 7:48:31|scanED005 397.4 um 0:00:30
6 7:49:13|scanED006 498.8 um 0:00:30
7 7:49:55|scanED007 609.2 um 0:00:30
8 7:50:37|scanED008 735.6 um 0:00:30
9 7:51:19|scanED009 806.4 um 0:00:30
10 7:52:01|scanED010 855.0 um 0:00:30
11 7:52:43|scanEDO11 859.6 um 0:00:30 [850um< LIS F AV
12 7:53:25|scanED012 870.6 um 0:00:30
13 7:54:07|scanEDO13 883.4 um 0:00:30
14 7:54:49 |scanED014 893.6 um 0:00:30
15 7:55:31|scanED015 901.7 um 0:00:30
16 7:56:13|scanED016 911.9 um 0:00:30
17 7:56:55|scanEDO17 922.9 um 0:00:30
18 7:57:37|scanED018 937.5 um 0:00:30
19 7:58:19|scanEDO19 947.6 um 0:00:30
20 7:59:01|scanED020 955.8 um 0:00:30
21 7:59:43|scanED021 966.0 um 0:00:30
22| 7:59:55| 8:00:25|scanED022 978.8 um 0:00:30
senEDic: ExpR FEEE
scnEDic01_202105130834 [30s/& p.67 1C1=6.4-8 1IC2K=7.4-8A| 0| 0/ 0/ 0] 0 var_[IC2K@Air2
8:34:00] 9:09:00] 0:35:00 PL2@IC2 T it
PLHV EfE5IT# p.10 PL1=700cps| 2| 3] o] o] o|Pors@]O ou
plhv02- 1] 9:156:01] 9:15:43|plhv02-01 500V aft IC2Bg 0:00:42
2| 9:16:26] 9:17:09|plhv02-02 600V PL1nomi 0:00:43[IC2KIZLF=DT. FaL LIEEL
3 9:18:31 |plhv02-03 700V 0:00:54
4 9:20:13 |plhv02-04 800V 0:01:12
5 9:21:41|plhv02-05 900V 0:01:00
: IC1 vs PL1
scnAtt01_202105130944 p.70 FC=8enA| 0| 3| 0] O] 1|~ O |0 |O |O [O [0u [iIC2k@Air2
9:44:00| 9:57:00|Step = 1/2, /4, /6. /8, /10 0:13:00 113/ 0/ 0] 1
scnAtt01-
1] 9:45:53| 9:46:22|scanAtt001 Mul 2000 0:00:291/f=1/999~1/9 FHTER
2 9:48:02 | scanAtt002 Mul 1000 0:00:30
3 9:48:57 | scanAtt003 Mul 2000 0:00:29
4 9:49:58 | scanAtt004 Mul 4000 0:00:30
5 9:51:00 | scanAtt005 Mul 8000 0:00:32
6 9:52:00 | scanAtt006 Mul 10000 0:00:32
7 9:52:57 | scanAtt007 Mul 20000 0:00:29
8 9:53:48 | scanAtt008 Mul 40000 0:00:32
9 9:54:39 | scanAtt009 Mul 80000 0:00:32
10 9:55:32 |scanAtt010 Mul 8000000 0:00:31
11 9:56:04 |scanAtt011 Mul 100000 0:00:31
12 9:57:05 |scanAtt012 Mul 200000 0:00:29
13] 9:57:28| 9:57:58|scanAtt013 Mul 400000 0:00:30
scnAtt02 202105131006 p.71 10uSv/h| 0| 2| 0] O] 1|~ O |0 |O |O [O [0u [iIC2Kk@Air2
I 10:06:00| 10:26:00|Step = 1/2, /4, /6, /8, /10 0:20:00 11 4/ 0/ 0] 3
scnAtt02- &L
PL HV T p.72 PL1= tkeps| 1| 4| 0| 0| 3|Pors(0)|O |O |O |O |O |ou
plhv03- 1] 10:35:33| 10:36:14 |plhv03-01 aft scnAtt 500V 0:00:41
2| 10:36:39| 10:37:21|plhv03-02 600V 0:00:42
3| 10:37:49| 10:39:03|plhv03-03 700V 0:01:14[DLZIEREZS
4| 10:39:37| 10:40:52 |plhv03-04 800V 0:01:15
5| 10:41:17| 10:42:23|plhv03-05 900V 0:01:06
scnEDssd: Ecalfl
scnEDssd01.202105131104 p.72
11:04:00] 11:32:00|30s/ &= 0:28:00 PL 4.5K, Sor 300cps, PandS| 1| 4| 0| 0] 0[PandS |[O |O [O |O [O |var |SSD@Air2
scnEDssd01-
1] 11:04:25| 11:05:07 |scanED0O01 0.0 um 0:00:42
2| 11:05:19| 11:06:03|scanED002 48.6 um 0:00:44
3| 11:06:15| 11:06:59|scanED003 100.2 um 0:00:44
4| 11:07:11)| 11:07:55|scanED004 148.8 um 0:00:44
5| 11:08:07| 11:08:51 |scanED005 196.4 um 0:00:44
6] 11:09:03| 11:09:49|scanED006 249.6 um 0:00:46
7] 11:10:01| 11:10:45|scanED007 297.2 um 0:00:44
8| 11:10: 11:11:41|scanED008 345.8 um 0:00:44
9| 11: 11:12:37|scanED009 397.4 um 0:00:44
10] 11:12: 11:13:33|scanEDO10 446.0 um 0:00:44
11] 11:13:45| 11:14:29 |scanEDO11 498.8 um 0:00:44
12| 11:14:41] 11:15:25|scanED012 547.3 um 0:00:44
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(@%IE Runlog 2105Kr_220204.xIsx1_RunlLog

2105Kr || HERREEN | |
Run Summary Sheet : CAMAC & LabView
\ Att PL2
| |Fname start stop |Header Ender / L({ Elapse ik 100[10|/ 53 |2 | Trig |Wob |AuF |[Kap |IC1 |PL1 |[ED |IC2 |Airl |Air2
13| 11:156:37| 11:16:23|scanED013 596.4 um 0:00:46
14| 11:16:35| 11:17:19|scanED014 647.6 um 0:00:44
15| 11:17:31] 11:18:15|scanED015 699.8 um 0:00:44
16| 11:18:27| 11:19:11|scanED016 723.6 um 0:00:44
17] 11:19:23| 11:20:07 |scanEDO17 730.9 um 0:00:44
18 :20: 11:21:03|scanEDO18 748.4 um 0:00:44
19 21: 11:22:01|scanEDO19 753.9 um 0:00:46
20| 11:22:13| 11:22:57|scanED020 782.6 um 0:00:44
21| 11:23:09| 11:23:53|scanED021 806.4 um 0:00:44
22| 11:24:05| 11:24:51|scanED022 844.5 um 0:00:46
23| 11:25¢ 11:25:47 |scanED023 855.5 um 0:00:44
24| 11:25: 11:26:43 | scanED024 868.3 um 0:00:44
25| 11:26:55| 11:27:39|scanED025 878.0 um 0:00:44
26| 11:27:51| 11:28:37|scanED026 883.4 um 0:00:46
27| 11:28:49| 11:29:33|scanED027 907.2 um 0:00:44
28| 11:29:45| 11:30:29|scanED028 932.0 um 0:00:44
29| 11:30:41| 11:31:25|scanED029 944.8 um 0:00:44
30| 11:31:37| 11:32:21|scanED030 5944.8 um 0:00:44
21/05/13 11:30 E—LEERT
21/05/13 14:00 (s04-N)FARS—+ .73
21/05/14 7:20 FART
| | 21/05/14 12:00 (MLO2-1)FIFAX&#—b .73
21/05/15 0:04 FIALT
2105/15 0:04 ‘MT#@T FUIB B FEREL
LLE,

2/2R=Y




